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The fourth proportional to the numbers 5, 6 and 8 is:
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To pack a set of books, Gautam got cartons of a certain height that were 48 inches
long and 27 inches wide. If the volume of such a carton was 22.5 cubic feet, what was
the height of each carton? [Use 1 foot = 12 inches.]
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@: f¥18 per kg wheat 1s mixed with 2 kg of another type of wheat to get a mixture
costing 20 per kg. Find the price (per kg) of the costlier wheat.
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[fcot75°=2- \/3 Find the value of cot 15°
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In a government scheme, 1f an electricity bill is paid before the due date, one gets a
reduction of 5% on the amount of the bill. By paying the bill before the due date, a
person got a reduction of ¥20. The amount of his electricity bill was:
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d) #420



A shopkeeper earns a profit C(f/l@n selling a book at 10% discount on the printed
price. The ratio of the cost price to the printed price is:
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A thief was spotted by a policeman from a distance of 225 metres. When the policeman started
the chase, the thief also started running. If the speed of the thief was 11 km/h and that of the
policeman was 13 km/h, how far would the thief have run, before the policeman caught up
with him ?
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Which of the following is divisible by 3 ?
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At a certain rate of interest compounded annually, a sum amounts to £10,890 in 2

years and to 11,979 in 3 years. The sum 1is:
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a) %9,000

b) 8,000

c) %8,500

d) %9,500



In a class, there are 39 students and their average weight is 51 kg. If we include the
weight of the teacher, then the average weight becomes 51.2 kg. What 1s the weight
of the teacher?
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A sum of money becomes ¥3,364 at a rate of 16% compounded annually for 2 years.

The sum of money is:
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If the surface area of a sphere 1s 1386 cm2, then find the radius of the sphere.
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If the numerator of a fraction be increased by 50% and its denominator be

diminished by 28%, the value of the fraction 1s 25/36 Find the original fraction.
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